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L IMacmopr KOMIJIEKTAa KOHTPOJIbHO-OLEHOYHbIX CPEACTB

B pesynbrare ocBoeHus yueOHOW TUCHUIUIMHBI MTHOCTpaHHBIN S3bIK 00yYarOUIHiics
nospkeH o0aanaatek npeaycmorpeHHsiMu OI'OC no cnenmnansHoctr CITO

23.02.01 Opzanuzayusn nepeeo3oxk u ynpaenenue na mpancnopme ( no euoam)
oOmMu 1 TpoecCuoHATBHBIMU KOMITETEHITUSIMHU:

OK 1. [loHumaTh CyIIHOCTh M COLMAIBHYIO 3HAUYMMOCTh CBOEH Oymyuiei
npodeccuu, MPosIBIATh K HEW yCTONYMBBINA HHTEpEC.

OK 2. Opranu3oBbiBaTh COOCTBEHHYIO JEATEIbHOCTh, OIpPENeiIsTh METOAbl U
CrocoObl BBIMOJIHEHUS MTPO(EeCCHOHANBHBIX 3a/7a4, OLIEHUBATh WX 3()()EKTUBHOCTH
Y KayecTBO.

OK 3. Pematb  mpoOiemsbl, OLEHUMBATh PUCKM WU NPUHUMATh  PEILIECHUS
B HECTAHJIAPTHBIX CUTYaLIUAX.

OK 4. OcymiecTBiaTh MOUCK, aHAIW3 U OLEHKY MH(pOpMAaIuu, HEOOXOAUMON MJis
NOCTAaHOBKM M pElIeHUs Npo(eCcCHOHAIBHBIX 3a4ad, MNPO(PECCHOHAIBHOIO U
JUYHOCTHOT'O PA3BUTHSL.

OK 5. Hcnonb3zoBaTh HH(OPMALMOHHO-KOMMYHHUKAIIMOHHBIE TEXHOJIOTUU IS
COBEPLIECHCTBOBAHUS IPO(PECCHOHATBHOMN IEATENbHOCTH.

OK 6. Paborath B KOJUIGKTUBE M KOMaHAEC, OOECIeUYMBAThL €€ CIIOUCHHE,
3¢ (deKTUBHO O0IIATHCA C KOJIEraMH, PyKOBOJICTBOM, MIOTPEOUTEISMH.

OK 7. CtaButh LEJH, MOTHUBHUPOBATh JESITEIbHOCTD NOTYMHEHHBIX,
OpraHM30BBIBATH M KOHTPOJMPOBaTh UX pabOTy ¢ MNpUHATHEM Ha cebs
OTBETCTBEHHOCTH 3a PE3YJIbTAT BBIMOJIHEHUS 3a1aHUH.

OK 8. CamocTOATENHHO OMpenessaTh 3aa4u MPo(ecCUOHAIBHOTO U JTUYHOCTHOTO
pa3BUTHSA, 3aHUMATbCA CaMOOOPa30BaHUEM, OCO3HAHHO IIAHUPOBAThH MOBBIILICHUE
KBaJTU(UKALIUH.

OK 9. BbITh TOTOBBIM K CMEHE TEXHOJIOTUI B MPOPECCUOHATIBHON AESITEIbHOCTH.

Y4eOHbIM TUTAHOM KOJUIEKa TPETyCMOTPEHa MPOMEKYTOUYHAs aTTeCTAalHs IIO0
yueOHoM auciuiuimHe MHocTpanHblid si3bIk B (opme  auddepeHnpoBaHHbIN
3auer.

I1. PesyabTaThl 0OCBOCHHMA Y4eOHOM AU CHUIIHHBI

B pesynbrare arTecTanuu OCYHIECTBISETCS KOMIUIEKCHAs MPOBEpKa CIEAYIOIIHNX
YyMEHUH U 3HAHUM, KOTOpble  (QOpMUPYIOT oOmuMe u npodeccuoHaIbHbIe
KOMITETEHIIUHU:

3HAHMA:

1. Jlekcuueckuii (1200 — 1400 nexkcHYeCKHUX €AMHHUI]) W T'paMMaTHUYCCKUN
MUHUMYM, HEOOXOIMMBIN I YTCHHS W MepeBoja (CO CIIOBApeM) MHOCTPAHHBIX
TEKCTOB MPO(HECCHOHATBHON HAMPABIECHHOCTH

yMeHHS:

1. O6marbcs (YCTHO ¥ THCHBMEHHO) HAa WHOCTPAaHHOM  SI3bIKE  Ha
npoecCuOoHaNTbHBIE U TIOBCETHEBHBIC TEMBI;



2. IlepeBomauth (cO ciOBapeM) HHOCTpPaHHBIE TEKCTHI MPOPECCUOHAIBHON
HaIpaBJIEeHHOCTH;
3. CaMoCTOSITEILHO COBEPIICHCTBOBATh YCTHYIO M MUCHbMEHHYIO peUb, MOMOIHATh
CJIOBapHBIN 3arac;

II1. ®opMbI U MeTOABI OLICHUBAHUS

KouTponb u orieHka 3HaHUM, YMEHH, a Takke cPOPpMUPOBAHHOCTh OOLTUX U
npo(eCCUOHATIBHBIX ~ KOMIIETEHUUHN OCYLIECTBISIOTCS € HCIIOJIb30BAaHUEM
CleIyIoIUX (opM U METOJIOB: IPOBEIEHUS TECTUPOBAHUS, BBIIIOJHEHUS JIEKCUKO-
rpaMMaTHYECKUX 3aJaHuil, paboThl ¢ MNPOPECCHOHATBHO OPUEHTHUPOBAHHBIMU
TEKCTAMM.

Omnenka OCBOCHUS TUCTIUTUTAHBI npexycMaTpuBaeT UCTIOJIb30BaHNE
HAKOMUTEILHOW  CHCTEMbI OIICHWBAHHS IPU TMPOMEKYTOYHOH aTTecTalu u
nuddepeHIupoOBaHHOM 3a4eTe.

IV. KoHTPO/IbHO-011eHOYHBIE CPEACTBA AJIA TEKYLIero KOHTPOJIA
Paspnen 1. CtpaHbl u3y4aemMoro si3bIka
Tect Nel
Bapuanr 1
3apanue Nel:

1. Ann never ... to work by bus.

a) go b) does go c) goes

2. Mary ... alot last year.

a) travels b) did travel c) travelled
3. She ... French at all.

a) not speaks b) doesn’t speak c¢) doesn’t speaking

4. This book ... five years ago.
a) write b) wrote c) was written

5. We ... this work tomorrow.
a) did b) will do c¢) done



3aganmne Ne2:

1. I think the article ... tomorrow in the evening.

a) will translate b) will be translated
2. The city ... on the banks of the river.

a) s situated b) situated

3. About 5 000 new houses ... last year.

a) were built b) are built

4. He ... to the theatre next month.

a) goes b) will go

5. Soldiers ... obey their commander’s orders.
a) can b) must
Bapuanr 2

3aganmne Nel :

1. Soldiers ... obey their commander’s orders.
a) can b) must
2....Icome in?

a) can b) must

3. I’'m afraid you ... everything once again.

a) must do b) have to do

4. ... you speak English?

a) may b) must

5. Itwas 10 o’clock. I ... leave.

a) must b) have to

3aganue Ne2:

c) will translated

¢) are situated

¢) built

c) went

c) may

c) may

c) may

¢) can do

c) can

c¢) had to



1. ... I come in?

a) can b) must c) may
2. I’m afraid you ... everything once again.

a) must do b) have to do ¢) can do
3. ... you speak English?

a) may b) must c) can

4. It was 10 o’clock. I ... leave.

a) must b) have to c¢) had to
5. When I was aboy I ... play football.

a) can b) must ¢) could

Tect Ne 2

Bapuanr 1

3amanusn:

Boi0epuTe npaBWJIbHbIN BAPUAHT.

1. The Australian continent is washed in the north by ....

a) the Arafura Sea b) the Irish Sea c) the North Sea

2. The land varies from high mountains to deep canyons in ....
a) Australia b) the USA c) the UK

3. The USA stretches from ... in the north to ... in the south.
a) Canada ... Mexico b) Mexico ... Canada c¢) Brazil ... Cuba
4. ... 1s the highest mountain in England and Wales.

a) Snowdon b) Elbrus c) Everest

5. No place in ... is more than 75 miles from the sea.

a) Great Britain b) the USA c) Australia

Bapuanr 2
3apanus:
Bbi0epuTe NpaBUJILHBIN BApHAHT.



1. The centre of the Australian continent is taken by ....

a) the mountain ranges b) the deserts c) the plains

2. The chief rivers of Great Britain are ..., ....

a) the Avon, the Thames b) the Missouri, the Yukon c) the Murray, the Darling
3. ... is located to the south of Asia, between the Pacific and Indian oceans.

a) The USA b) Great Britain c) Australia

4. The southern parts of ... have warm temperatures year round, but the northern
parts have very cold winters.

a) Australia b) the UK c) the USA
S. ... is typical of the UK.
a) steady rainfall b) severe drought ¢) cold winter

Tect Ne 3

Bapuanr 1

3ananue:

I. TIpouuTaiite Bonpockl 1-4 1 TekcThl, 0003HauUeHHBIE OykBamMu A-E. YcraHoBuTe,
B KaKMX TEKCTaxX MOKHO HAlTH OTBET HA 3TU BONPOCKI. OTBET HA KaXIbI BOIIPOC
MO>XHO HAaWTH TOJBKO B OJTHOM TEKCTE. 3aHECUTE CBOM OTBETHI B TAOJHILY,
MIPUBEJACHHYIO HUXKE, TJI€ 0] HOMEPOM BOIPOCA BIUIIUTE COOTBETCTBYIOLLYIO
OykBy. B 3aganuu oquH TEKCT JIUIIHUMN.

Where can tourists....

1. learn more about extreme sports?

2. see a country which is as large as America?

3. enjoy the most splendid view of the Niagara Falls?
4. have lunch at a sand dune?

A. Canada has an area of nearly ten million square kilometers. It is a country of
lakes. Since the building of the St. Lawrence Seaway the Great Lakes and the St.
Lawrence River form a great water way from the Atlantic to the heart of the
country. The Niagara Falls on the Niagara River between Lake Erie and Lake
Ontario are one of the most splendid sights in the world.

B. New Zealand is famous for its geysers, thermal springs, its national past time
rugby and extreme sports. It is a mountainous country. Most of North Island and
the south-west of South island have good forests of evergreen trees and large areas
are rich grasslands. Tourists are offered such extreme amusements as tramping
through virgin forest, rafting on rushing mountain rivers, jumping from helicopters
and bridges into precipices and water.
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C. Australia is massive and very sparsely peopled: in size in rivals the USA, yet
it’s population is just over eighteen million. This is an ancient land, and often looks
it. In contrast, its cities — most of which were founded as recently as the mid
nineteenth century — express a youthful energy.

D. Indian people are very friendly and hospitable. I continued to travel in India at a
snail’s pace. The longer we were out in the desert, the more beautiful it grew, so
peaceful and romantic as the land shifted from scrub bush to sand dunes to rocky
hills and back to sand dunes. Each day we could stop at a new sand dune for lunch.

E. Dubai (a land of sunrise) was once a part of a large desert. But now it is a green
island of everlasting summer, a centre of world entertainment, and a civilized city
in the United Arab Emirates. There are wonderful buildings of glass, skyscrapers,
peaceful fountains in the middle of flower gardens, and meadows with colorful
plants.

Bapuanr 2
3apanue:
Match the names of the famous British people (a-f) with the sentences (1-5).

1 | All the British admire that man. He was a brave and a
skillful admiral. He won the battle of Trafalgar. Sir Isaac
Newton

2 | The British called her “the Queen of people’s hearts”. She | b | Horatio
was well-known for her charity; she helped people with Nelson
dangerous diseases. At the age of 20 she married Prince
Charles and they had two sons.

3 | His name is well known all over the world. He acted at the | ¢ | Daniel Defoe
London theatre called “The Globe” and wrote tragedies,
historical plays, comedies and poetry. His plays are still
popular — not only in England but in the whole world.

4 | He is one of the greatest men in the history of science. He |d | William
was born in a small village in England in 1642, studied Shakespeare

mathematics and physics at Cambridge University. He
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discovered the universal law of gravitation.

5 | He was a famous English writer of the eighteenth century. | e | Princess
He wrote his famous book when he was nearly 60 years Diana
old. His book was based on the real adventures of a sailor,
who had lived alone for four years on a desert island. For
this book he was called “the father of English prose”.

Tect Ne 4

Bapuanr 1

3aganue Nel:

Bbi0epuTe NpaBUJILHBIN BApHAHT.

1. The Australian continent is washed in the north by ....

a) the Arafura Sea b) the Irish Sea c) the North Sea

2. The land varies from high mountains to deep canyons in ....
a) Australia b) the USA c) the UK

3. The USA stretches from ... in the north to ... in the south.
a) Canada ... Mexico b) Mexico ... Canada c¢) Brazil ... Cuba
4. ... is the highest mountain in England and Wales.

a) Snowdon b) Elbrus c) Everest

5. No place in ... is more than 75 miles from the sea.

a) Great Britain b) the USA c) Australia

3aganue Ne2: Ilpounraiite nH(pOPMALIMIO O CTYI€HTAX, TOJBKO YTO IMPUEXABIINX
B JIETHIOIO IIKOJY. [log0eprTe mpaBUIbHBIN 3ar0JI0BOK IJIsl KaXA0M 4acTH TEKCTa
13 NPEIIOKEHHBIX BAPUAHTOB:

A. Eating traditions

B. A treat and a song go together

C. A popular way of getting many presents
D. Holiday decoration business

E. Holiday food business

F. Cooking special holiday dishes

1. Many stores in the USA stock a large range of holiday house decorations for

a month before the holiday itself. For instance, on Thanksgiving Day they sell
pumpkins and leaves specially designed for adorning. As for Halloween, stores
offer flashlights, masks, and skeletons for decorating the gardens and for scaring
one’s guests. Thus, people alter the attire of their houses several times a year. The
wealthier families change not only the season’s outside decorations but even the
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interior of their houses such as curtains, carpets and pictures.

2. On the Eve of Thanksgiving Day, most supermarkets are flooded with turkeys
selling at lower prices. Turkey producers have to decrease their price because they
must sell all the turkeys as soon as possible, otherwise they will still have them
when Christmas comes or even longer. Almost nobody buys turkey for an ordinary
meal (during the rest of the year). At Christmas, Americans also cook a turkey

or they can choose another traditional dish, e. g. roasted ham.

Bapuanr 2
3ananme Nel:
Bbi0epuTe NpaBUJILHBIN BApHAHT.

1. The centre of the Australian continent is taken by ....

a) the mountain ranges b) the deserts c) the plains

2. The chief rivers of Great Britain are ..., ....

a) the Avon, the Thames b) the Missouri, the Yukon c) the Murray, the Darling
3. ... 1s located to the south of Asia, between the Pacific and Indian oceans.

a) The USA b) Great Britain c) Australia

4. The southern parts of ... have warm temperatures year round, but the northern
parts have very cold winters.

a) Australia b) the UK c) the USA

S. ... is typical of the UK.

a) steady rainfall b) severe drought c¢) cold winter

3aganue Ne2: [IpouuTaiite nH(pOpPMALIKIO O CTYACHTAX, TOJIBKO YTO MPHUEXABLINX
B JIETHIOIO IIKOJY. [lon0eprTe mpaBUIbHBIN 3ar0I0BOK AJISl KaXA0M 4acTH TEKCTa
13 NIPEJUI0KEHHBIX BAPUAHTOB:

A. Eating traditions
B. A treat and a song go together
C.A popular way of getting many presents
D. Holiday decoration business
E. Holiday food business
F. Cooking special holiday dishes

1. One of the peculiarities of Americans is that they do not usually sit around the
table for a holiday meal. For larger groups, all the food usually stands on a special,
separate table that is beautifully decorated. Everyone can serve themselves with the
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food they want. What is more, they do not usually have salads,” which may seem
rather strange for the Russians living there. Salads, to Americans, may be nothing
more than tossed leaves oflettuce with afew other vegetables.

2. One more type of celebration, which is connected with presents, are «showersy,
for instance a baby-shower or a wedding-shower. For a baby-shower, a pregnant
woman is given presents for her future child, whereas for a wedding-shower
a bride receives presents for her household. These showers are popular because
on the one hand, it is usually a moderate price to rent a cafe or a restaurant and
order some kind of snacks such as crisps and sauces and salads. On the other hand,
it is very pleasant to be «showered» with presents. Many people are usually invited
to such parties.

Pa3nen 2. 3BecTHBIC TIOIM KYJIBTYPHI U HAYKH.

Paznen 3. 51 u Mup, B KOTOPOM §1 KUBY.

Bapuanrl

3ananue:

Read the texts about famous Russian people. Match the texts with the names of
these famous people.

1 | He was a well-known Soviet and Russian actor and clown | a.
who acted in many popular films. He worked in a circus Valentina

in Moscow and now this circus has his name. Children Tereshkova
and grown-ups like to visit it.
2 | She is a Russian professional tennis player. She is an b

Olympic medalist, who won silver for Russia in women's | Peter the Great
competition at the 2012 Summer Olympics in London.

3 | She 1s a Russian cosmonaut. She was the first woman in C.
the world to fly in a space rocket. She flew in spaceship Dmitry Bilan
Vostok 6 on 16 June 1963.

4 | He was a Russian czar at the end of 17th century. He is d.
best known for his big reforms and made Russia a great Yury Nikulin
nation. He went to Europe where he met many talented
people and learnt a lot of jobs. He built ships and created
Russian fleet. He founded St. Petersburg.

5 | He was a Russian scientist and inventor. He discovered e.

and formulated the Periodic Law and made the Periodic Maria Sharapova
Table of Elements. An interesting fact about him is that he
saw this system in his dream, when he was sleeping.

6 | He is a Russian actor, singer and a songwriter. He f.
represented Russia at the Eurovision Song Contest 2006 | Mikhail
with the song "Never Let You Go". He won the second Lomonosov

place. In 2008, he won the contest in in Belgrade with the
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‘ ‘ song "Believe".

Bapuanr 2
3apanue:
Ecological Problems
Ecology is a science which studies the relationship between all forms of life on our
planet and the environment.

Since ancient times Nature has served Man, giving him everything he needs: air to
breathe, food to eat, water to drink, wood for building and fuel for heating his
home. For thousands of years people lived in harmony with the environment and it
seemed to them that the resources of Nature had no end or limit.

With the industrial revolution our negative influence on Nature began to increase.
Large cities with thousands of polluting plants and factories can be found
nowadays all over the world. They pollute the air we breathe, the water we drink,
the fields where our crops are grown. Big cities suffer from smog. Cars with their
engines have become the main source of polluting in industrial countries.

Vast forests are cut down everywhere for the needs of industries. As a result many
kinds of animals, birds, fish and plants are disappearing nowadays.

The pollution of the air and the world’s oceans and the thinning the ozone layer are
the other problems arising from men’s careless attitude to ecology.

Active measures should be taken to save the life on our planet. There is an
international organization called Greenpeace which is doing much to preserve the
environment.
Questions to the text on ecological problems:
Why are the wild animals in danger?
What climatic changes are the most threatening?
Is there any way to make our air cleaner
What is Green Peace?
What are the main ecological problems?

SNk W =

Paznen 4. CnopT ¥ 310pOBbIif 00pa3 KU3HU.
Bapuant 1
3axanue:

Swimming
Read the text. Complete the passages using the words. racing, until, goggles
(ouku), almost, as long as, safety, splash, besides, ear plugs (6epywiu), prevent.
Most Americans can swim, and 1 everyone likes at least to 2

around in the waves on a hot day at the beach. Knowing how to swim
15



is important for 3 but when you do it seriously, swimming is also one of
the best exercises for your body.

4 water and  swimsuit you don’t need  much.
5 keep irritating chlorinated water out of your eyes and let you watch
where you’re going, A swimming cap makes you more streamlined for
6 and keeps your hair out of your face.

7 keep the water out and 8 ear infections.

To get in shape, start by swimming twenty minutes three times a week. Add ten
minutes 9 you’re swimming for an hour each time. Vary your strokes
to work different muscles. It’s okay to take short breaks, 10 your

heart rate stays up.

Bapuanr 2
3ananme: Read the text. Answer the questions.
Sports and healthy lifestyle

Sport plays an important role in the life of teenagers. Those people who go in
for sports, lead a healthy lifestyle, follow a diet and control their weight tend to be
more cheerful and are less susceptible to diseases. On the other hand, those people
who don't participate in any physical activity and prefer junk food tend to be
subjected to obesity and are at risk of heart and vascular diseases. As a matter of
fact, the problem of obesity is one of the most pressing in the modern world. Today
more and more teenagers are becoming overweight. One solution that can be put
forward 1s doing sports, which can help teens not only to lose excessive weight and
to stay fit, but also to feel more vigorous and spirited throughout the day. Physical
exercises are also the perfect way for emotional release. To improve school
performance it is essential for school children to balance mental stimulation and
physical activity. Besides, it is necessary to mention that supporters of healthy life
style are also at much less risk of getting involved in drinking alcohol, taking drugs
and other bad habits than those who are addicted to computer games, instead. In
addition, sports develop the will for victory, as well as caseharden the constitution
and the spirit. Sports also create opportunities to find congenial souls with
common interests and values. That feeling that you are a part of the team can help
to develop your leadership skills and to boost your self-esteem.

The most popular team sports for teenagers are football, volleyball, basketball
and tennis. However, some youngsters prefer winter sports, such as figure-skating,
ice-hockey and skiing, while others are fond of summer sports, including diving,
swimming, yachting and rafting.
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As far as I am concerned, I do like sports. I usually wake up at 7 a.m. and go for a
run or do my morning exercises indoors. Twice a week I take my fitness classes
and go to the swimming pool. I am also fond of yoga which teaches me how to
take care of my body properly and how to stay healthy, flexible and strong. In
summer [ like to play badminton and volleyball with my friends, while in winter |
go to the skating rink. As for dieting, I am a follower of separate nutrition. When
you eat separately you can eat almost anything but not at the same time. For
instance, for breakfast I prefer a plate of oatmeal, a glass of orange juice and two
apples. As is known, "an apple a day keeps a doctor away". For dinner I can eat
fresh vegetables and some steamed fish. Besides, I prefer mineral water and fresh
juices to fizzy drinks. In conclusion, a healthy person doesn't smoke, eats healthy
food and prefer doing sports to watching them.

Vocabulary:

1) to go in for sports — 3aHMMATBCA CIOPTOM

2) to lead a healthy lifestyle — Bectr 3m0p0oBBIif 00pa3 KU3HU
3) to follow a diet — cobmonates auety

4) physical activity — dusnueckas 1esaTeIbHOCTb

5) to take part (in) / to participate in — npuHUMAaTh ydacTue (B 4eM-JI100)
6) junk food — He3mopoBas nuiia, dpact-Qysa

7) to lose weight — xyzaeTs, cOpachIBaTh BeC

8) to keep fit — ocraBaThcs B X0opouieit pusnueckoit popme
9) susceptible to diseases— BOCIPUUMYHUBBINA K 00JIE3HIM

10) heart and vascular diseases — cepJe4YHO-COCYIUCThIE 3a00IEBAHUS
11) obesity—Ty4HOCTH, O)KHUpPEHUE

12) overweight people— mtoau ¢ U30BLITOUHBIM BECOM

13) vigorous — CUJIbHBIN, SHEPTUIHBIN

14) spirited— >kxuBOM, OKUBIEHHBIN, YHEPTUUHBIN

15) emotional release— samormonansHas pasrpyska

16) bad habit — nypnas npuBbIuKa

17) to caseharden the constitution — 3aKaiasiTh TEIO

18) skating rink — xaTox

19) will for victory — Bouist Kk mooee

20) to caseharden the spirit — 3akansaTh ayx

21) congenial soul— OGu3Kui 10 AYXY YEIOBEK

22 to boost self-esteem — MOBBIIATE CAMOOIICHKY

23) to go for a run — BBIXOJIUTH Ha MPOOEKKY

24) to do morning exercises — AeJIaTh YTPEHHIOO 3apsIIKy

25) yachting (sport)— napycHbIi COPT
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26) separate nutrition — pa3esIbHOE MUTaHUE

27) steamed fish — pri0a Ha napy

28) oatmeal — oBcsiHas Kara

29) fizzy drink — ra3upoBaHHBII HATUTOK

30) flexible— ruGkwmii.

Answer these questions.

. What role does sport play in the life of teenagers?

. Those people who go in for sports, lead a healthy lifestyle, don’t they?
. What problem is one of the pressing in the modern world?

. How can one solve this problem?

. What role do physical exercises play for emotional release?
. What should students do to improve school performance?

. What bad habits are there in the text?

. What are the most popular sports for teenagers and youth?

. What lifestyle do you lead?

10. What person is called a healthy person?

O 00 3 &N Li & W N —

Paznen 5. O0b1yam U Tpaguum.
Bapuanr 1
3apanue:
Read the text and say if the sentences below are true (T) or false (F):
Easter

As soon as 2 January arrives, shops remove the Christmas product lines from
their shelves and the Christmas decorations from their windows. What fills the
empty spaces? Chocolate Easter eggs, Easter bunnies and Easter chicks, despite the
fact that Easter itself doesn’t come along until a few months later. Easter also
means we have public holidays, Good Friday and Easter Monday, it’s the longest
public holiday after Christmas and people sometimes take the opportunity to take a
short break away from work by extending their leave. Cheryl from Liverpool said,
‘I use the Easter break to visit relatives and socialise with friends, the chocolate
giving and receiving is a good bonus!’

Easter celebrates the resurrection of Christ. In the European pre-Christian
tradition, it celebrates the return of nature and greenery after the cold, snowy
winter. The Easter chick symbolises new life, the rabbit represents fertility and the
egg symbolises both. That is why painted eggs or chocolate eggs are given as gifts
at Easter.

Are these sentences T or F?
1) Soon after Christmas the shelves of all the shops become empty.
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2) Chocolate Easter eggs, Easter bunnies and Easter chicks can be bought long
before the Easter coming.

3) Easter is the longest public holiday after Christmas.

4) Easter celebrates the return to pre-Christian traditions.

5) Easter eggs symbolize return of nature.

Bapuanr 2
3ananue: Read the text and fill in the gaps:
Christmas in Different Parts of the United Kingdom

In the north of England up to the middle of the 20th century, it (1)
common to find a dish of “Mugga” on the Christmas Eve table. This (2)
a kind of wheat porridge, sweetened with honey, which (3)
before the main meal, and also throughout Advent, which is the month leading up
to Christmas. It (4) a remnant left over from Viking times. But it (5)
up in similar forms all over Europe. In Poland for example they (6)
“Kuia” which is a cereal dish made from wheat, fermented overnight in

milk, sweetened with honey and spiced. In Scotland they (7) “Athol
Brose” which is made from oats. It also has whisky in it and (8) as a
drink!

1. A.1s B.are C. was D. had been

2. A.1s B. are C. was D. had been

3. A. ate B. eat C. eats D. was eaten

4. A. has been B. was C. is D. are

5. A. turned B. was turned C. turn D. turns

6. A. has B. have C. had D. have had

7. A. have B. has C. had D. have had

8. A. is served B. was served C. serves D. served

Paznen 6. «IIpou3BoacTBo aBTOMOOMIIE)

Bapuant Nel
3amanue:
Read and translate the text:

A VISIT TO A PLANT
A group of pupils was going to visit a machine-building plant. They were met by
the chief engineer. He told them a few words about the history of the plant and its
work. After the introduction made by the chief engineer, the pupils were taken over
the shops. They visited a forge, a foundry and the main assembly line. In the shops
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they watched the forging, casting and welding processes. The pupils were told
about safety techniques, the aim of which is to prevent accidents. The air in the
shops was purified by modern ventilators and dust-collecting apparatus.
Experimental work was conducted on a large scale; labor-saving devices were
constantly being introduced.

The plant had several sanatoriums and rest homes where the workers could spend
their holidays.

The pupils were much impressed by their visit to the plant and learned many
interesting things about up-to-date equipment.

[TocTtaBbTE 5 BOIIPOCOB K TEKCTY.

Make up the story about choosing the profession. Your future plans using given
expressions:

1) after graduating from the vocational school - nocne oxonuanus [TV,

2) 1'd like to get work at... - MHE OBl XOT€JIOCH MTOJYYUTh pabOTy Ha (B) ...;

3) I'm going to be... - s1 coOOUparOCh CTATh;

4) I want to enter the institute - s X049y NMOCTyIIUTh B HHCTUTYT;

5) entrance exams - BCTyIUTEIIbHbBIE SK3aMEHBI;

6) a full-time student - CTyJJleHT THEBHOTO OT/ICJICHHUS;

7) a half lime student - cTyeHT Be4epHETO OTACICHUS;

8) a fitter (a bench worker) - cnecapp;

9) a technician - TEXHUK;

10) a mechanic - mexaHUK;

14) a welder — cBapuuk.

Bapuant Ne2
3amanue:
Read and translate the text:

OUR WORK AT THE PLANT
I study at the college. I have practice on my profession at a big plant. My work is
interesting and important. I am fond of my work. The workers of the plant fulfill
and over fulfill the plan. The automation is introduced in many shops. The
production is being constantly increased. My friends and I take part in social life of
the plant.
I study and work three days a week. I'm learning many subjects. My favourite
subjects are Physics and Literature. Besides, we have many special subjects. |
study a trade of a turner and I operate a modern universal lathe. My foreman is an
old worker. He is a skilled worker. He performs the most difficult operations.
After graduating from the college I'm going to become a mechanic and study at
the institute.

Answer the questions:

1.Where do you study?
2.Where do you work?
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3.Is your work interesting and important?
4.Do you take part in social life of the plant?
5.What subjects do you learn at the college?
6.What trade do you study?

7.What are your future plans?

Pasnen 7. «IIpou3BOACTBO U TeXHUKA 0€30MACHOCTI
Bapuanr 1
3aganue:

safety engineering - TEXHUKa O€30MTaCHOCTH
accident - HECHaCTHBIN clTydai

safety rules - mpaBuIa TEXHUKH

lack - HEXBaTKa, OTCYTCTBHE O€30MaCHOCTU
training workshop - yaeOHbIN 11eX (MacTepckas)
fo ensure — o0ecrieuuBaTh

Change the Russian words into the English ones:
This was necuacmmuwiti ciyuail.

All people should keep mexnuxy 6ezonacnocmu.
Do you know npasuna mexuuxu?

We work in macmepckou.

I ob6ecneuusaro safety engineering.

Read and translate the text:

SAFETY ENGINEERING
Accidents to people in industrial enterprises are called industrial traumatism
(injury). They occur when workers have not acquired the requisite for skill and
lack the necessary experience in handling tools and equipment. Accidents are also
caused through neglect of safety rules and regulations in the factories and training
workshops.
The purpose of safety engineering is to prevent accidents and to create such
conditions of work in industry which will ensure maximum productivity of labour.
When taking up new duties or when first going to work at any industrial enterprise
each worker is obliged to acquaint him thoroughly with, and to master the safety
instructions.

Answer the questions:

1.How are the accidents to people in industrial enterprises called?
2.When do the accidents to people occur?

3.What must one do to prevent accidents?

4.What is the purpose of safety engineering?

5.What is a worker obliged to do when taking up new duties?
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Bapuanrt 2

3ananue:

Find the Russian equivalents:

1.quantity a. )KECTKHUM (3KECTKOCTbD)
2.alloy b. yraepon

3.carbon C. pacTsKeHUe
4.substance d. momomka
5.tough(ness) €. KOJIMYECTBO
6.hard(ness) f. KOBKOCTh

7.ductility g. pa3pbiB
8.malleability h. mpouHoCTH

9.tension 1. BS3KOCTh
10.compression J. CILJIaB

11.rupture k. TBep b1t (TBEPHAOCTH)
12.strength 1. cxxatue

13.braking m. BEIIECTBO

Translate the words into Russian:
metal, industry, industrial, absolutely, laboratory, steel, elastic, mechanical, result,
atom, atomic, structure, special, temperature.

Read the text and do the tasks:
METALS

Mankind has used metals for centuries in gradually increasing quantities but only
now they are employed in really great quantities.

Today we know more than seventy metals, the majority of which are used in
industry.

Of all the metals iron is the most important one. Absolutely pure iron is never
prepared except for laboratory purposes. The irons and steels in use today are
really alloys of iron, carbon and other substances. They can be made elastic, tough,
hard, or comparatively soft.

Mechanical properties of metals are the result of their atomic structure. They
include hardness, ductility and malleability which are of special importance in
engineering.

Ductility is the capacity of a metal to be permanently deformed in tension without
breaking.

Malleability is the capacity of a metal to be permanently deformed by compression
without rupture.

These properties are similar to each other but not the same. Most metals increase
these properties at higher temperatures.

The strength of a metal is the property of resistance to external loads and stresses.
These mechanical properties are of great importance in industrial purposes
because all parts and units made of iron and steel must meet up-to-date demands.
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Match the questions and the answers:

1.What is the most important
metal?

2.What mechanical properties of
metals do you know?

3.What is strength?

4.What is ductility?

5.What is malleability?

a. The capacity of a metal to be permanently
deformed in tension without breaking.

b. Iron.

c. The capacity of a metal to be deformed by
compression without rupture.

d. The property of a metal to resist to external
loads.

e. Hardness, ductility and malleability.

Complete the sentences:

1.The most important metal in use today is....

a) carbon
b) iron
¢) some other metal

Ductility is the capacity....

Malleability is the capacity of a metal....

The strength of a metal is the property....

a) to be permanently deformed in tension without breaking

b) to be permanently deformed by city of compression without rupture
¢) to resist to external loads and stresses

Pa3nen 8. « CoBpeMeHHBII aBTOMOOMJIbL)

Bapuanr 1
3aganue:

KonTpoJsbHoe 3aganne Nel

Match the words and their meanings:

1.ferrous metals
2.cast iron
3.carbon content
4.alloy steel
5.carbon steel
6.strength
7.hardness
8.ductility
9.machinability
10.resistance to wear
11.conductivity
12.iron
13.silicon

a. MPOBOJANMOCTH

b. yriepoaucras craib
C. UBHOCOCTOMKOCTh

d mpoYHOCTS.

€. 00pabaThIBaeMOCTh (Ha CTaHKE)
f. *ecTKOCTb.

g Keye3o

h. cinas

1. YepHBIC METAILIbI
J.UyTYH

k. conepxanue yriepona
1. KOBKOCTh

m. JISTUPOBAHHASI CTAJb
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14.alloy
15.rust-resistant

n. KPEMHUU
0. HEP)KABCIOLIU I

Translate the words into Russian:
metal, element, industry, steel, material, industrial, electronic, magnetic, type,
chemical, mechanical, rocket, automobile.

Read and translate the text:

FERROUS METALS AND STEELS
Ferrous metals consist of iron combined with carbon, silicon and other elements.
But carbon is the most important element in ferrous alloys.
Ferrous metals are used in industry in two forms: steel and cast iron, which differ
in the quantity of carbon content.
Alloys consist of a simple metal combined with some other element. Steel is a
ferrous material having some carbon content. There are two kinds of steel: carbon
steel and alloy steels.
Carbon steel should contain only iron and carbon without any other alloying
element.
Alloy steels are those in which in addition to carbon an alloying element is
present. These alloying elements have an effect on the properties of steel. They
increase its strength and hardness, for example, high percentage of chromium
makes steel rust-resistant, and we call it "stainless steel".
Strength, ductility and machinability are the most important industrial and
commercial properties of steel. Such properties as resistance to wear, electrical
conductivity, and magnetic properties are important in special uses of metals.
According to their chemical and mechanical properties steels may be used in
different branches of industry, for example, in machine building, rocket
engineering, automobile industry, etc.

Match the questions and the answers:

1.What elements do ferrous metals | a.Steels in which in addition to carbon

consist of?

2.What is carbon steel?
3.What arc alloy steels?
4.What are the most
properties of steel?

5.In what branches of industry are steels
used?

important

an alloying element is present.

b.In machine building, automobile
industry, etc.

¢.Of 1iron combined with carbon, silicon
and other elements.

d.It contains only iron and carbon.
e.Strength, ductility and machinability.

Bapuanr 2
3apanue:
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Match the words and their meanings:

1.lustre a. OKpy’Karomias cpeaa
2.property b. 3amumaTe ot
3.quantity C. moABEpraThCs
4.conductivity d mI0X0ii MPOBOAHUK
5.solid state €. KOJIM4EeCTBO
6.brittle f.0neck

7.undergo g. CIUIaB

8.to protect from h. cBoiicTBO
9.environment 1. MPOBOJIUMOCTD
10.alloy ] TBEPIOE COCTOSIHHE
11.poor conductor k. xpynkwuit
12.distinction l. mpodHOCTH
13.strength m. KECTKOCTb
14.hardness n. pa3jaudue

Translate the words into Russian:

metal, metallic, electricity, electric, fact, group, rocket, construction, element,
material, corrosion, chemical, electromechanical, product, steel, organic, barrier,
industry.

Read, translate the text and do the tasks:

METALS AND NONMETALS
There are some distinctions between metals and nonmetals. Metals are
distinguished from nonmetals by their high conductivity for heat and electricity, by
metallic lustre and by their resistance to electric current. Their use in industry is
explained not only by those properties, but also by the fact that their properties,
such as strength and hardness, can be greatly improved by alloying them with other
metals.
There are several important groups of metals and alloys. The common metals such
as iron, copper, zinc, etc. are produced in great quantities.
The so-called precious metals include silver, gold, platinum and palladium. The
light metals are aluminum, beryllium and titanium. They are important in aircraft
and rocket construction.
Many elements are classified as semimetals (bismuth, for example) because they
have much poorer conductivity than common metals.
Nonmetals (carbon, silicon, sulphur) in the solid state are usually brittle materials
without metallic lustre and are usually poor conductors of electricity. Nonmetals
show greater variety of chemical properties than common metals do.
Metals can undergo corrosion, changing in this case their chemical and
electromechanical properties. In order to protect metals from corrosion the
products made of metals and steel are coated by some films (coatings). Organic
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coatings protect metals and steel from corrosion by forming a corrosion-resistant
barrier between metal or steel and the corrosive environment.

Match the questions and the answers.:

1.By what properties are metals
distinguished from nonmetals?

2.What common metals are produced in
great quantities?

3.What metals are called light?

4.What properties do nonmetals have?
5.What is done to protect metals from
corrosion?

a.Iron, copper and zinc.

b.They are usually poor conductors of
heat and electricity

c. They are coated by some organic
coatings.

d. High conductivity for heat and
electricity.

e. Aluminum, beryllium and titanium.

KonTpoJsbHoe 3a1anne Ne2

C. MPOJIOJILHOE HATIPABJICHHE
d. HamaXXMUBaTh CTAHOK (/11 KAKOU-1I. pabomvt)

f. mmudoBanbHBIN CTAaHOK
g. nundoBaTbHBINA CYMIIOPT

Bapuanr 1

3apanue:

Match the words and their meanings:

1.grinder a. KpOHILUTENH
2.lever b. 3aroToBka
3.wheel slide

4.cross-feed

5.wheel spindle €. peryJupoBaTh
6.bracket

7.wheel head

8.to clamp h. peruar

9.to set-up 1. TIonepeyHas rnojaya

10.to adjust
11.longitudinal direction
12.work piece

Translate the words into Russian:

J. nutud)oBaJIbHAsS TOJIOBKA
k. mmuHgens nuudOoBaTEHOTO KpyTa
1. 3axxumaTh

universal, cylinder, type, mass, massive, construction, hydraulic, control, function,

spindle, motor.
Read the text and do the tasks:

THE HYDRAULIC GRINDER
This universal grinder is designed for grinding cylindrical holes and faces of work
pieces. It is widely used for lot production in various types of machine building

plants.

Machines of this type are of very massive construction, but they are designed in
such a way that they can be operated as easily as machines of smaller sizes.
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They are hydraulically operated and controlled by a single lever located at the front
end of the machine. This single lever controls all functions of the machine
including all movements of the wheel slide, cross-feed, starting and stopping the
work of the spindle.

The wheel spindle is driven by a V-belt from a motor located on a bracket on the
wheel slide. The cross-feed for the wheel slide is operated by a hydraulic unit.

The wheel head is clamped on the top surface of the table. When setting up the
grinder, the wheel head can be adjusted in a longitudinal direction to suit the length
of the work piece.

Match the questions and the answers:

1.What operations are the universal grinder | a.By a hydraulic unit.

designed for? b.For grinding cylindrical holes of
2.What mechanism controls the movements | work pieces.
of the wheel slide and cross-feed? ¢.On the top surface of the table.

3.By what unit is the cross-feed for the wheel | d. The lever.
slide operated?
4. Where is the wheel head clamped?

Bapuanr 2

3apanue:

Match the words and their meanings:

1.mechanical engineer a. IOJTUI CPOK CITY>KObI

2.to deal (with) b. 3amycTUTh B MacCOBOE MPOU3BOACTBO

3.designing cars C. MOJIBEPraTh UCIILITAHUSIM

4.to put into mass production d. maBHOE crernieHre

5. long service life €. OTBE4YaTh COBPEMEHHBIM TPEOOBAHUSIM

6.driving safety f. uMeThb neno (c kem-u., yem-i.)

7.to meet up-to-date demands g. HaJIe)KHbIE TOPMO3a U PYJIEBOE
yIpaBJICHUE

8.smooth-acting clutch h. 6e3omacHOCTh €311bI (BOXKICHWS)

9.silent gearbox 1. OecurymHasi KopoOka nepeay

10.dependable brakes and steering

system J. MTH)KEHeP-MEXaHUK

11.to subject to tests k. koHCTpyHpOBaHUE aBTOMOOUIEH

Translate into Russian:

mechanical, mechanism, specialist, industry, phase, technology, process,
laboratory, test, fact, automobile, engineer, method, principle, corrosion, type,
material, comfortable.

Read the text and do the tasks:
27




AUTOMOBILE PRODUCTION
1.Specialists in automobile industry deal with designing and manufacturing cars,
so they should know that the production of the automobile comprises the following
phases:
Designing,
Working out the technology of manufacturing processes,
Laboratory tests,
Road tests.
Mass production (manufacturing).
2.Why is it necessary to know all these facts?
It is important to know them as before the automobile (car or truck) is put into
mass production, it should be properly designed and the automobile must meet up-
to-date requirements.
3.What are these requirements?
The automobile must have high efficiency, long service life, driving safety, ease of
maintenance and pleasant appearance.
In order to obtain all these qualities engineers should develop up-to-date methods
of designing cars, using new types of resistant to corrosion light materials. Also it
is important to know computer science because it is intended to shorten the time
between designing and manufacturing. Computers offer quick and optimal
solutions of problems.
But before the car is put into mass production all its units and mechanisms are
subjected to tests, first in the plant's laboratory, then the car undergoes a rigid
quality control in road tests. Only then the car is put into mass production. Why are
these tests required? What qualities are required of the automobile? The modern
automobile must be rapid in acceleration, must have smooth acting clutch, silent
gearbox, dependable brakes and steering system, as well as pleasant appearance.
Also it must be comfortable and have all conveniences.

Match the questions and the answers.:

1.What phases does the | a. It must have high efficiency, long service life,
production of the | driving safety, ease of maintenance and pleasant

automobile comprise?
2.What requirements must
the automobile meet?
3.Why are cars subjected to
road tests?

4.What qualities are
required of the automobile?
5.Why i1s it important for
the specialists in
automobile  industry to
know computing methods?

appearance.

b. They should be able to develop up-to-date
methods of designing cars and shorten the time
between designing and manufacturing.

¢ Because they must meet up-to-date requirements.

d. Designing, working out technological
processes, laboratory and road tests, mass
production.

€. It must be rapid in acceleration, must have

smooth acting clutch, silent gearbox, dependable
brakes and steering system.

28




V. KoHTPO/IbHO-01LIeHOYHbIE CPeICTBA JIA IPOMEKYTOUHOI aTTecTauuu

Bapuant Ne 1
3ananue:

1. Match the words and their meanings:

body

car wheels

power train

power plant
springs

steering system
clutch

final drive

engine crankshaft
push down the pedal
brakes are applied
frame with axles
fuel system
lubricating system

a. TOpMo3a cpabaThIBaIO

b. cusnoBas nepenaya

C. TJ1aBHas mepeaaya

d. KoJIeHUaTHIN Bajl IBUTATENb
€. HOKMMAaTh Ha TIeAalTh

f. cunoBas ycraHoBKa

g. KoJieca aBTOMOOWIIS

h. pama c ocsimu

1. TOTUTMBHASI CUCTEMA

J. pyJieBas cuctema

k. cierienue

1. BcmomorarenbHbIE yCTPOMCTBA
m. CUCTEMA CMa3Ku

n. Ky30B

accessories 0. peccopsl

2. Translate into Russian:
automobile, chassis, speedometer, electric, system, cylinder, cardan, control,
hydraulic, pedal, accessories, differential.
3. Read. Translate the text and do the tasks:

COMPONENTS OF THE AUTOMOBILE
Basically, the automobile consists of three parts: the power plant, or the engine, the
chassis and the body. To these may be added the accessories: the heater, lights,
radio, speedometer and other devices.
The power plant or engine is the source of power that makes the wheels rotate and
the car move. It includes electric, fuel, cooling and lubricating systems. Most
automobile engines have six or eight cylinders.
The chassis consists of a power train, frame with axles, wheels and springs. The
chassis includes brakes and steering system.
The power train carries the power from the engine to the car wheels and contains
the clutch, gearbox, propeller or cardan shaft, differential and the final drive.
The clutch is a friction device connecting (or disconnecting) the engine crankshaft
to the gears in the gearbox. It is used for freeing the gearbox from the engine and is
controlled by the clutch pedal.
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Brakes are important mechanisms of the car. They are used to slow or stop the car.

Most braking systems in use today are hydraulic. They are operated by the brake
pedal. When the driver pushes down on the brake pedal, they are applied and the
car stops.

4. Match the questions and the answers:

1. What are the main basic parts of | a. The clutch, gearbox, cardan shaft and the
the automobile? final drive.

2. What does the chassis consist of? | b. Freeing the engine from the gearbox.

3. What units does the power train | ¢ The power plant, the chassis and the body.

contain? d. A power train, frame with axles, wheels
4. What is the function of the and springs.
clutch? e. To slow or stop the car.

5. Why are brakes needed?

5.Complete the sentences:

1.The mechanism used for stopping the car is....

2.The mechanism used for changing the speed is....

a) clutch

b) gearbox

c) brakes

3. The mechanism used for connecting (or disconnecting) the engine from the
gearbox is ....

a) brakes

b) clutch

c) steering system

4. The unit carrying the power from the engine to the car wheels is....
a) power plant

b) power train

¢) chassis

5. The instrument measuring the speed of the car is...

a) heater

b) lights

c¢) speedometer

Bapuant 2
3ananue:

shape - hopma
casting - OTIINBKA
rolling - mpokar
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welding - cBapka

piercing - IPOXOXKIACHUE

trimming - oOpe3ka (3azieJika OTBEPCTUSI KpaeB)
Spinning - BbIIaBIMBaHue (Ha TOKAPHO-IABUIIBHOM CTaHKE)
drawing - yepueHue; 30. BHITATUBAHUE

chuck - 3axuM; TaTpoH, JeP>KaTENb

carriage - KapeTka

milling - ppe3epoBanue

surface - TOBEPXHOCTh

grinding - npoOnenue (u3MenbueHHE), NUTU(HOBKA
convenient - yTOOHBIN

fo equip - CHapsKaTh, 000Py10BaTh

shaping - npuaanue Gopmbl

thread - pe3n0a; Hape3ka

bending — crubanue

headstock - nepennsisi 6abka

tailstock - 3anasa 6a0Oka

lathe - TOKapHBIN CTAaHOK

drilling — cBepnenue

cutting — pe3anue

high-speed — ckopoCTHOM

efficient — >pdexTUBHBIN

forging — KOBKa

boring - 6ypeHue, cBeplieHHuE

steel - cranb

Read and translate the texts:

MACHINE-TOOLS
Metal undergoes a number of processes before it is formed into the required shape:
casting, rolling, welding, piercing, trimming, spinning, bending, drawing, etc.
The machines which perform all these kinds of works are called machine-tools.
The most common machine-tool found in almost any workshop is the lathe. The
main parts of it are: the headstock, the chuck, the tailstock, the carriage.
The automatic lathe is a perfection of the ordinary lathe. Its tools are changed
automatically. A worker skilled in the use of a lathe is called a turner.
There are many other machine-tools that work on plane surfaces, for example,
milling machines, planning and shaping machines. Circular holes are drilled by a
drilling machine or bored by a boring machine or a boring mill. Thread milling
machines are used in the production of different machine elements. Gear cutting
machines include gear milling machines. All these machines use cutting tools
made of high-speed steel.

LATHES

There are three types of lathes produced by our machine-tool manufacturing
works: heavy, medium and light types. The type of a lathe depends upon the size of
diameter of work pieces.
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A most convenient and efficient machine is the model combination lathe for
turning, milling, drilling, grinding, slotting, and tool-sharpening jobs. It can be
used both in stationary and mobile repair shops, on ships, etc.

DRILLING MACHINES
The most drilling machines are equipped with mechanisms, permitting not only
drilling, countersinking and reaming, but also cutting female threads with the help
of taps. Both universal and special-purpose type radial "drills are built.

Answer the questions:

1.What processes does metal undergo before it is formed into the required shape?
2.How are the machines which perform this work called?

3.What is the most common machine-tool in any workshop?
4.What are the main parts of a lathe?

5.What is the automatic lathe?

6.How do we call a worker, skilled in the use of a lathe?

7.What machine-tools that works on plane surfaces, do you know?
8.What do the drilling machines drill?

9.Where are the threads milling machines used?

10.What are the main types of lathes?

11.What is the most convenient and efficient machine?

12.What are the most drilling machines equipped with?

Bapuanr 3
3apanue:
1.Match the words and their meanings:

l.internal combustion engine a. TIOPIIICHb

2.combustion chamber b. BepxHsisg MepTBasi TOUKa
3.stroke C. YETBIPEXTAKTHBIN TBUTATEITh
4.piston d. KoyeH4aThIk Bal

5.top dead centre €. OTBEPCTHE KJIaraHa
6.bottom dead centre f. nBUTraTens BHYTPEHHETO CrOpaHuUs
7.four-stroke cycle engine g. HOKHSISL MepTBasi TOUKa
8.two-cycle engine h. TorMBHAs cucTeMa
9.crankshaft 1. TaKT BIIPBICKA (MONIUBA)
10.intake stroke j. ABYXTaKTHBIN ABUTATENb
11.valve opening k. kamepa cropanus

12.fuel system 1. xon, TaKT (nopuis)
13.power stroke m. BBIXJIOT

14.exhaust n. pabouuit X011 MOPIITHS

2.Translate the words into Russian:
cylinder, automobile, limit, centre, cycle, compression, gas.

3.Read, translate the text and do the tasks:
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THE ENGINE
The engine is the source of power that makes the car move. It is usually called an
internal combustion engine because gasoline is burned within its cylinders or
combustion chambers. Most automobile engines have six or eight cylinders.
The operating cycle of the four-stroke engine that takes place in the engine
cylinder can be divided into four strokes. The upper limit of the piston movement
is called the top dead centre. The lower limit of piston movement is called the
bottom dead centre. A stroke is the piston movement from the top dead centre to
the bottom dead centre or from bottom dead centre to the top dead centre. In other
words, the piston the completes a stroke each time it changes the direction of its
motion.
Where the entire cycle of events in the cylinder requires four strokes (two
crankshaft revolutions), the engine is called a four-stroke cycle engine. The four
strokes are: intake, compression, power and exhaust.
Two-cycle engines have also been made, and in such engines the entire cycle of
events is completed in two strokes or one revolution of the crankshaft.
On the intake stroke the intake valve is opened. The mixture of air and
vaporized gasoline is delivered into the cylinder through the inlet valve. On the
compression stroke the inlet valve is closed so that the mixture can be compressed.
On the power stroke both valves (inlet and exhaust) are closed in order to raise
pressure during the mixture combustion. On the exhaust stroke the exhaust valve is
opened to exhaust the
residual gas.

4.Match the questions and the answers:

1.What is the top dead centre?
2.What is the bottom dead centre? | a.When the entire cycle of events is
3.When the engine is called a four- | completed in two strokes.

stroke cycle engine? b.The lower limit of the piston movement.
4.When the engine is called a two- | c.The upper limit of the piston movement.
cycle engine? d.When the entire cycle of events in the
5.What kind of strokes can the cylinder is completed in four strokes.
events in the engine cylinder be e.Intake, compression, power and exhaust
divided into? strokes.

5. Complete the sentences:

1.An internal combustion engine is called so because gasoline is burned....
a) inside the combustion chamber

b) outside the combustion chamber

2. The upper limit of the piston movement is called...
3. The lower limit of the piston movement is called....
a) the bottom dead centre

33




b) the top dead centre

4. The four-cycle engine requires....
a) two strokes of piston movement
b) four strokes of piston movement

5. The mixture of air and gasoline is delivered into the cylinder....
a) on the power stroke

b) on the exhaust stroke

c¢) on the intake stroke

d) on the compression stroke

Ipunooscenue 1. Knouu k KOHmpoabHo-0YyeHOYHbIM cpedcmeam Ol MeKyue2o
KOHMPOIA

Paznen 1. Ctpanbl H3y4aeMoro si3bIka

Tect Nel
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BapuanTt Nel
3amanune Nel
Knrou K 3a0anusam

1 C
2 C
3 B
4 C
5 B
Bapuant Ne2

3amanune Nel
Knrou k 3a0anuam

1 B

| AN W N

C
A
C
C

Tect Ne2

Bapuant Nel
3aoanue

Knwu k 3a0anuam

3amanue Ne2
Knrou k 3a0anuam
1 B
2 A
3 A
4 B
5 B

3amanue Ne 2
Knrou k 3a0anuam

1 2 3 4 5

1 C

2 A

3 C

4 C

5 C
Bapuant Ne2
3aoanue

Knrou k 3a0anuam

2 3 4 5

a b a a a
Tect Ne3

BapuanTt Nel

3anmanue

Knrwu k 3a0anuam

1 2 3 4

A B D C

Tect Ne 4
BapuanTt Nel

a c c a
Bapuant Ne2
3ananue

Knrwu k 3a0anuam

2 3 4 5

e d a c
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3amanune Ne 1
Knrwou k 3a0anuam

1 2 3 4
a b a a
Bapuant Ne2

3amanue Ne 1
Knrou k 3a0anuam

1

2

3

4

b

a

C

C

3amanue Neo2
Knwu k 3a0anuam

1 2
D E
3amanne Ne2

Knrou k 3a0anuam

1

2

A

C

Pa3znen 2. U3BecTHBIE JIIOAM KYJIbTYPbl M HAYKH

Bapuanr 1

3aanue:
Knrou k 3a0anuam

1 2 4
d e b
Bapuanr 2
3aanue:
Knrwu k 3a0anuam
1.
need of industries.
2.
layer are the most threatening.
3. Yes, there are some.
4. Greenpeace is an International organization.
5

They are in danger because vast forests are cut down everywhere for the

The pollution of the air and the world’s oceans and the thinning the ozone

animals etc.

Paznen 4. Ciopt u 310poBbIii 00pa3 KU3HU

Bapuanrl

3annanue
Knrou k 3a0anuam

. The main ecological problems are the pollution of air, water, disappearing

1

2

E

| 4

5

16

K

B

E

| 10
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almost | splash | safety | besides | goggles | racing | ear | prevent | As until
plugs long
as

Bapuanr 2

3ananue

Knwu Kk 3a0anuam

Sport plays an important role in the life of teenagers.

Yes, they do.

The problem of obesity is one of the most pressing in the modern world.

One solution that can be put forward is doing sport.

Physical exercises are also the perfect way for emotional release.

To improve school performance it is essential for school children to balance

mental stimulation and physical activity.

There are drinking alcohol, taking drugs, and so on.

8. The most popular team sports for teenagers are football, volleyball,
basketball and tennis.

9. I'lead a healthy lifestyle.

10.A healthy person doesn’t smoke, eats healthy food and prefer doing sports
to watching them.

AN

=

Pa3znen 5. O0b14au u Tpaguunu

Bapuanrl Bapuanr 2
3amanue 3amanue
Knrou k 3a0anuam Knrou k 3a0anuam
1 2 3 4 5 16 |7 8
L 12 |3 |4 |5 D |A |D |B |A |B |A |A

T|T |T |F |F

Pasnen 6. IlponsBoacTeo aBToMo0MIIei
Bapuanrl
3anmanue
Knrwou Kk 3a0anuam
ITocenmienue 3aBoaa

['pynmna MmIKOJIBHUKOB COOMpasiach MOCETUTh MAIIMHOCTPOUTENbHBIA 3aBoa. Mx
BCTPETWJI TJaBHBIM uHxkeHep. OH pacckazall UM HECKOJIBKO CJIOB 00 HCTOpUHU
3aBojia U ero pabore. Ilocne npencrabineHus, CAENAHHOTO IMIABHBIM MH)XEHEPOM,
YUEHUKH ObUIM TPUHATHI 32 Hexu. OHM MOCETUIM Ky3HHILY, JIUTEHHBIM LeX U
IJIaBHBI COOpPOYHBIN KOHBeliep. B mexax oHu HaOmomanmM 3a MpOIECCOM KOBKH,
auThst U cBapku. llIkompHUKAM paccka3ald O TeXHUKE O€30MacHOCTH, LIEIBIO
KOTOpPOM SBISIETCS MPEJOTBpAIllEHWE HECUYaCTHBIX cilydyaeB. Bozayx B mexax
OYMILIAJICS COBPEMEHHBIMU BEHTHJIATOPAMH U TIbLICYIaBINBAIOIIMMH anlapaTaMu.
OKCIepUMEHTaNbHbIe PaboThl BENMMCh B OOJBIIMX MaciiTabax, MOCTOSIHHO

37



BHEJPSUTUCH TPyAOCcOeperaroime ycTpoicTna.
Ha 3aBone ObUIO HECKOJBKO CAaHATOPUEB M JOMOB OT/AbIXa, Iyie pabodne MOriu
POBOAUTH CBOM OTIYCK.

VYyeHuku ObUIM OYEHb BMEYATIECHBI TOCEHIEHHWEM 3aBOJa W Y3HaJd MHOIO
UHTEPECHOTO O COBPEMEHHOM O0OPYIOBAHUH.

Bo3MoxHbBIE BAPHAHTEI BOTIPOCOB K TEKCTY:

1. What plant was a group of pupils going to visit?

2. What did they visit at the plant?

3.What new things did the pupils know about the plant?
4.Where could the workers spend their holidays?

5. The visit to the plant was interesting, wasn’t it?

B03MOXHBIN BapUaHT pacckasa:

I’m a full- time student. I’'m going to be a technician. After graduating from the
vocational school I want to enter the institute. I hope I will pass entrance exams
successfully . I’d like to get work at the mechanic- construction plant.

Bapuanr 2
3ananue
Kuarou Kk 3aganuam
Hama pa0ora Ha 3aBone

S ydych B KoJuie[ke. Y MEHs eCTh MpaKkTUKa Mo Moel npodeccuu Ha 6OJIbIIOM
3aBojie. Most paboTa UHTEpecHa M BakHA. S odeHb JIr00II0 CBOIO paboTy. Paboune
3aBOJIa BBIMOJIHAIOT M TEPEBBINOIHSAIOT IUJIaH. ABTOMAaTH3alMs BHEAPEHA BO
MHOTHX I1exax. [Ipou3BOJACTBO MOCTOSHHO YBeIWYUBaeTca. Mbl C Jpy3bsiMU
NPUHUMAEM y4dacTre B 0OIIECTBEHHOM KU3HU 3aBOJIA.

S ydych u pabortaro Tpu AHS B Henento. S u3ydaro MHOro mpeamMeroB. Mou
Ar00uMBIE TpeAMeThI-pu3uka U Juteparypa. Kpome Toro, y Hac e€ctb MHOTO
CHEIMaNbHBIX MmpeaMeToB. S wu3ydaro mpodeccuio TOKaps U YOPABISIO
COBPEMEHHBIM YHHMBEpPCaJbHBIM TOKApHBIM CTaHKOM. Mol Opuraaup-crapbiii
pabounii. OH kBammduIpoBaHHbIi pabOTHUK. OH BBITIOTHSIET CaMbIE CIOXKHBIC
oTiepauH.

[Tocne oxoHYaHWs KOJIEAXKa S COOMpAIOCh CTaThb MEXAaHUKOM M YYHUTHCA B
UHCTHUTYTE.

OTBeTHI Ha BOIIPOCHI:

1.1 study at the college.

2. I have practice on my profession at a big plant.
3.Yes, it 1s.

4. Yes, I do.

5. I'learn (study) many subjects at the college.
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6. I study a trade of a turner.
7. After graduating from the college I'm going to become a mechanic and study at
the institute.

Pazngen 7. IIpou3BoACTBO M TEXHUKA 0€30MIACHOCTH
Bapuanr 1

3aganue

Kuarou k 3aganusam:

1. This was an accident.

2. All people should keep safety engineering.

3. Do you know safety rules?

4.We work in the training workshop.

5. L ensure safety engineering.

Texnuka 0e3onmacHocTH

HecuacTHble ciiydau ¢ JIIoIbMHU Ha MPOMBILIUICHHBIX TPEANPHUATHIX HA3bIBAIOTCA
NPOM3BOJCTBEHHBIM TpaBMaTu3MoM. OHHU BO3HHMKAIOT, KOrjga paOOTHUKH HE
npuoOpenu HeOOXOAMMBIX HAaBBHIKOB M HE HMMEIOT HEOOXOAMMOIO OIbITa B
oOpaleHn ¢ MHCTPYMEHTaMH W oOopynoBaHuWeM. HecyacTHbIE Cly4aW Takke
BBI3BaHbI IPEHEOPEKESHNUEM MIPABUIAMH ¥ HOPMaMHU O€30MaCHOCTH Ha 3aBOJIAX U B
y4€OHBIX MACTEPCKHUX.

[lenpt0o TeXHUKM O€30MACHOCTH SIBISCTCS IPEJOTBPALICHHE HECYaCTHBIX
CIlydaeB W CO3JaHHE TaKWX YCJIOBUU Tpyla B MPOMBIIUICHHOCTH, KOTOPBIC
obecrnieyar MaKCUMaJIbHYIO IPOU3BOAUTEIBEHOCTD TPY/A.

[Ipuctynas Kk HOBBIM 00SI3aHHOCTSIM WJIM BIEPBBIE MPUCTYMas K paboTe Ha JTF0O0M
NPOMBIIIJICHHOM — TMPEINpUATUHH, KaKAbIH pabOTHUK 00s3aH  JOCKOHAJIBHO
O3HAKOMHUTH €T0 C HHCTPYKIUSAMHU 10 TEXHUKE O€30IacCHOCTH.

OTBeTHI Ha BOIIPOCHI:

1. Accidents to people in industrial enterprises are called industrial traumatism
(injury).

2. They occur when workers have not acquired the requisite for skill and lack the
necessary experience in handling tools and equipment.

3.0ne must keep to the safety rules.

4. The purpose of safety engineering is to prevent accidents and to create such
conditions of work in industry which will ensure maximum productivity of labour.
5. When taking up new duties or when first going to work at any industrial
enterprise each worker is obliged to acquaint him thoroughly with, and to master
the safety instructions.

Bapuant 2
3anmanue
Kurou k 3aganusam:

1 2
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ITepeBon cioB:
MeTtai, TpOMBIIUIEHHOCTb, MPOMBIIUICHHBIH, a0COMIOTHO, JIabopaTropusi, CTalb,
rMOKUM, MEXaHMYECKUM, pe3yibTaT, aTOM, aTOMHBIA, CTPYKTypa, CHElUAJIbHBIN,
TemIeparypa.

MeTaJibl
3amanue
Kuarou k 3apanusam

~
(\S)
w
A
D

~
(NS}
o
BN

Paznen 8. CoBpemMeHHBbIII aBTOMOOWIb

KonTpoabHoe 3aganmne Ne 1
Bapuanr 1

3amanue

Kirou k 3aganusam:

1 2 |3 4

()
N
Co
o
~
S
~
~

12 |13 |14 |15

[UIS

!

~
Q

oQ
S
by
Q

i j k m | b

IlepeBoa cJioB:

Mertamnn, 3JIeMEHT, MPOMBILIIEHHOCTh, CTaJIb, MATEPUAIL, IPOMBILIIJICHHBIH,
AJIEKTPOHHBIN, MATHUTHBIN, TUIl, XUMUYECKUN, MEXaHUYECKU, PAKETA,
aBTOMOOMJIb.

YepHble MeTALIBI U CTAIH

YepHble METAJUIBI COCTOST U3 JKEJI€3a B COUETAHUU C YIJIEPOAOM, KPEMHUEM U
OpyrumMu 3iemeHTamu. Ho yriepop sBisercs caMblM Ba)KHBIM DJIEMEHTOM B
YEepPHBIX CIUIaBAX.
YepHble METAIBI UCIIONB3YIOTCS B MPOMBIIUIEHHOCTH B IBYX (hopMax: CTalb U
YYT'yH, KOTOPbIE OTIUYAIOTCS 110 KOJIMYECTBY COJIEPKaHUs yIIIepoa.
CraBel COCTOSAT M3 MPOCTOrO0 MeTalyla B COYETAHUU C KAKUM-TO JPYTHM
aneMeHToM. CTalb-3TO JKENE3UCThI MaTepHal, HMEIOIIUNA HEKOTOPOE COIep KaHNe
yraepoaa. CyliecTByeT J1Ba BHJAA CTajH: YIJIEPOAUCTasi CTalb M JIETUPOBAHHBIC
CTaJIH.
VYraepoaucTas craiab OJKHA COJIEPIKATh TOJBKO JKEJE30 U yriepoJ 0e3 Kakoro-
A100 PYroro JErUpyrOIIEro JEMEHTA.
JlerupoBaHHbIE CTAIM-3TO T€, B KOTOPBIX IOMUMO YIJEpOAAa IMPUCYTCTBYET

JICFI/IPYIOHII/Iﬁ 3JIEMEHT. JTH JICTUPYIOIIUEC OJIEMCHTBI OKAa3bIBAIOT BIIMAHHC Ha
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cBoiictBa crainy. OHM MOBBIIIAIOT €r0 MPOYHOCTH M TBEPAOCTh, HANPHUMED,
BBICOKMHM MPOLIEHT XpOMa JIEaeT CTallb CTOMKON K KOPPO3HH, U Mbl Ha3bIBaeM €€
"HeprkaBerolasi CTajp'.

[Ipo4HOCTh, MIACTUYHOCTH U 00pabaTHIBAEMOCTD SIBIISIIOTCS HanboJiee BaKHBIMU
MPOMBIIIUICHHBIMA U KOMMEPUYECKMMHU CBOMCTBAMM CTasd. Takue CBOMCTBA, Kak
M3HOCOCTOMKOCTD, 3JIEKTPONPOBOJHOCTh MU MAarHUTHbIE CBOMCTBA UMEIOT Ba)KHOE
3HAYEHUE MPU CHEIUATBHOM UCTI0JIb30BAHUH METAJIIOB.

ITo cBOMM XMMUYECKUM U MEXaHUYECKUM CBOMCTBAM CTaJId MOTYT IPUMEHSTHCS B
pPa3IMUHBIX OTPACIAX MPOMBIIUICHHOCTH, HampuMep, B MAaIlIMHOCTPOCHHH,
pPaKeTOCTPOCHUHU, aBTOMOOMIILHON TIPOMBIIIIIEHHOCTH | JIp.

1 2 3 4 5
C d a e b
Bapuanr 2

3aganue

Knrou k 3a0anuam

| 2 3 4 5 14
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h e 1 ] k c b a g d n 1 m

Ilepeeoo cnoes:
MeTaJlJI, METAJUTMYECKUM, DJIEKTPUUECTBO, dJIEKTPUUECKUM, (PaKT, rpyIina, pakera,
KOHCTPYKIIMS, 3JIEMEHT, MaTepuai, KOppo3usi, XUMAUYECKUM,
AIEKTPOMEXaHUYECKHUH, TPOJIYKT, CTallb, OPTAHUYECKUM, Oapbep,
MIPOMBIIIJIEHHOCT.

MeTtajliibl 1 HEMETAJLJIBI
CyliecTBYIOT HEKOTOPbIE PA3INUMsl MEXIAY METANIaMU U HEMeTaJJlaMu. MeTasibl
OTJIMYAIOTCA OT HEMETAJUIOB CBOEW BBICOKOM MPOBOJMMOCTBIO Uil TEIUIA H
IEKTPUYECTBA, METAIUTMYECKUM OJIECKOM M COMPOTUBICHUEM DIICKTPHUCCKOMY
TOKy. X mpuMeHEHHE B TMPOMBINIJICHHOCTH OOBICHICTCS HE TOJHKO JTUMH
CBOMCTBaMHU, HO M TE€M, UYTO MX CBOWCTBA, TaKME KaK MPOYHOCTb U TBEPIOCTD,
MOT'YT OBITh 3HAUMUTEJIHHO YIYUYIIEHBl IIyTEM JIETUPOBAHUS WX APYTUMU
MeTaJJIaMH.
Cy1iecTByeT HECKOJIBKO BaXKHBIX TPYMNI METAIOB W cIiaBoB. OOIIMe MeTaibl
KaK yTIOT, M€/lb, ITMHK, €tC. BBIITYCKAIOTCS B OOJBIINX KOJUYECTBAX.
K Tak Ha3piBaeMbIM JparolieHHbIM MeTajulaM OTHOCSTCA cepedpo, 30JI0TO,
ninatuHa 1M nawiaauil. Jlerkue Mmetamibl-AntoMuHuld, bepunnuii m tutan. OHM
BAXKHbI B AaBUACTPOCHUU U PAKETOCTPOCHHH.
MHorue 37eMeHThl KIACCU(PHUIMPYIOTCS KaK MOJyMETAIUIbI (BUCMYT, HampuMep),
MOTOMY YTO OHU WUMEIOT ropas3no 0oJjiee HU3KYIO MPOBOJAUMOCTH, YeM OOBIYHBIC
METaJIbL.
Hemeramnsr (yrimepon, KpeMHHI, cepa) B TBEPJAOM COCTOSSHHH OOBIYHO SIBIISIOTCS
XPYIIKUMH MaTeprajiaMu 0€3 METANTHYECKOTO OJiecka W OOBIYHO SIBIISIIOTCS
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IUIOXMMHU TPOBOJAHMKAMU dJIeKTpuyecTBa. Hemertamsl mNposBisiOT Oosibliee
pa3zHo00pa3re XUMUUYECKUX CBOMCTB, YEM OOBIYHBIE METALIIBI.

Meraiuiel MOTYT IOABEPraThCs KOPPO3UU, U3MEHSS IPU ATOM CBOM XMMHUUYECKHUE U
AIEKTPOMEXAHNYECKUE CBOMCTBA. [IJ1s 3aIIUTHI METAJUIOB OT KOPPO3HUH U3JIEIUS U3
METaUIOB U CTalld TOKPBIBAIOTCA HEKOTOPHIMH IUIEHKAMHU (TIOKPBITUAMH).
Oprannyeckre MOKPBITHUS 3aIIUIIAIOT METAUIBI U CTallb OT KOPpO3uu, oOpasys
KOPPO3HOHHO-CTOUKHUI Oaphep MEXIy METaUIOM WA CTabI0 U KOPPO3MOHHOU
Cpenon.

—
N
W
N~
()}

KonTpoJsbHoe 3aganune Ne 2
Bapuanr 1

3annanue

Knwu k 3a0anuam:

1 2 3 4 5 6 7 8
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Ilepeeoo cnoes:
YHuBepcanbHbIN, IMIUHIP, TUI, MACCA, MACCUBHBIN, KOHCTPYKIIUS,
TUIPABINYECKUNA, KOHTPOJIb, QYHKILHUS, IITUHIEIb, MOTOP

['mapaBiInueCcKnil U3MEITBYNUTEND

Ota yHuBepcallbHas NUTM(OBabHAS MalllMHA MPeAHa3HauYeHa s nuMdoBaHus
HWIMHAPUYECKUX OTBEPCTHM M I'paHel 3aroToBOK. OH IIMPOKO MCHOJb30BAH IS
IIPOAYKIMY CEPUU B PA3JIMYHBIX TUIIAX 3aBOJIOB MAIIMHOCTPOEHHS.

Mamyssl 3TOTO TUIIA HMMEKOT OYEHb MACCHBHYK) KOHCTPYKLIMIO, HO OHH
CKOHCTPYMPOBAHbI TAKMM 00pa3oM, UTO UMM MOYHO YIIPaBJIATh TaK )K€ JIETKO, KaK
Y MallMHaMU MEHBIIUX Pa3MEpOB.

OHM TUAPABIMYECKM  YOPABILSIIOTCA M YOPABIBSIOTCA  OJHHUM  PbIYaroM,
pacIOJIOKEHHBIM Ha NEPEIHEM 4YacTH MAIIMHBL. OTOT OJMHOYHBIM pblUar
KOHTPOJIUPYET Bce (YHKUMU MAIIMHBI BKJIKOYas BCE JIBUKEHUS CKOJIBXKEHHUS
KoJIeca, IIONEPEYHOi oAaun, HAUMHATh U OCTaHABJIMBATH PA0OTY IIMUHEIS.
[Inueaens Koneca ynpasiseTcs KIMHOBBIM PEMHEM OT MOTOpa PACHOJI0KEHHOIO
Ha KPOHIUTEWHE Ha CKOJIb)KEHMHM KoJieca. [lomepednas nmomada i CKOJIBKEHUS
KOJIeCca yMPaBISETCs TUAPABINIECKIM OJIOKOM.

['onoBka Koneca 3axxaTa Ha BepXHeW mMoBepxHOcTU Tabmuipl. [Ipu HacTpoiike
nuTM(OBaTbHOTO CTaHKA T'OJOBKA KOJECa MOXKET PErylIMpOBaThCS B MPOAOIHLHOM
HaIIPaBJICHUU B COOTBETCTBUH C JUINHOW 3arOTOBKHU.

(1 12 [3 [4 |
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Bapuant 2

3aoanue

K4 k 3aganusam:

1 2 3 4 5 6 7 8 9 10 11
] f k b a h t d 1 g C

llepesoo cnos:

Mexanuueckuil, mexanusm, CReYUAIUC, NPOMbIUIEHHOCMb, (ha3ad, MEXHOL02UA,
npoyecc, 1abopamopus, mecm, pakm, asmMomoOUIb, UHICEHED, MemOO,
NPUHYURUATIbHDLL, KOPPO3USL, MU, Mamepuai, KOM@BOPMHbLIL.

ABTOMOOWIbHOE MPOU3BOICTBO

1.CneunanucTsl aBTOMOOHIIbHOI IPOMBIIIIIEHHOCTH 3aHUMAIOTCS
NPOEKTUPOBAHUEM U M3TOTOBIIEHUEM aBTOMOOWJICH, O3TOMY OHHU JOJKHBI 3HATD,
YTO MPOU3BOJCTBO aBTOMOOMIISI BKITIOYAET B CEOSI CIEAYIOUINE ITAIBI:
[IpoexTnpoBanue,
Pa3paboTka TeXHOJIOTUHN MPOU3BOACTBEHHBIX MPOIECCOB,
JIaGopaTopHble IPOBEPKH,
JIOpOKHOE UCTIBITAHUE.
MaccoBoe Ipou3BOACTBO (M3rOTOBJICHHUE).
2.3aueM HY>KHO 3HaTh BCe 3TU (PakThI?
BaxxHO 3HaTh MX, TaKk KakK IpPEXIe 4eM aBTOMOOWIb (JIETKOBOM WJIM T'PYy30BOIN)
OyAeT 3alyllleH B CEpUHHOE IPOU3BOJACTBO, OH JOJDKEH OBbITh IPaBUIIBHO
CIPOEKTUPOBAH U COOTBETCTBOBATH COBPEMEHHBIM TPEOOBAHUSIM.
3.KaxoBsl 3T TpeOoBaHus?
ABTOMOOWJIb JTOJDKEH 00JIaaTh BBICOKOM MPOM3BOAMTENBHOCTHIO, JIMTEIbHBIM
CPOKOM CIyXObI, 0€30MacCHOCTHIO BOXKJIEHHUS, MPOCTOTONM OOCTYXUBaHUS U
IPUSATHBIM BHEIIIHUM BUJIOM.
Jlnst monmydeHusT BCEX OTUX KAaveCTB HHXKEHEpaM HEOoO0XOauMO pa3paboTaTth
COBPEMEHHBIE METObl MPOCKTHUPOBAHHUS ABTOMOOWIICH, WCIOJIb3Yysl HOBBIE BHUJIbI
CTOMKHMX K KOPPO3MH JIETKUX MarepuajioB. Taxke BaKHO 3HaTh MH(YOPMATHUKY,
NOTOMY YTO OHA INpeJHa3HaueHa [UJIsl COKpALUEHUS BPEMEHH  MEXKIY
IPOEKTUPOBAHUEM M NPOU3BOACTBOM. KommbroTepel mnpeiaratoT ObICTpblE U
ONTHMAaJIbHBIE PELIECHUS TPOOIIEM.
Ho nepen 3amyckom aBTOMOOWIS B CEPUMHOE NMPOU3BOACTBO BCE €r0 Y3IJbl U
MEXAaHHU3Mbl TIOJBEPraroTCi HUCIBITAHUSAM, CHadajla B 3aBOJCKON J1abopaTopuu,
3aTeéM aBTOMOOWJIb MPOXOJIUT JKECTKMH KOHTPOJb KadyecTBa IPHU JOPOKHBIX
UCIbITaHUuSAX. TONBKO TOCTAE ATOrO0 aBTOMOOWIL BBOJUTCS B  CEpHiHOE
IPOM3BOACTBO. 3adeM HYXHbI 3TU TecThl? Kakue kadectBa TpeOyroTcs OT
aBTomMoOmsi? COBpEMEHHBIM aBTOMOOWIIb MOJIKEH OBITH OBICTPHIM B Pa3roHE,
UMEThH IJIaBHOE CILIETJICHHE, OECITyMHYI0 KOpOOKY mepeaad, HaJeKHbIE TOpMO3a U
pyJeBO€ yIpaBlIeHUE, a TaKkKe MPUATHBIN BHEIIHUN BUJ. Takke OHa JOHKHA OBITH
yI0oOHOM M UMETh Bce y100CTRA.
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Ipunooicenue 2. Knouu k KOHmMpoabHO-0yeHOUHbIM cpeocmeam Ois
NPOMENCYMOYHOU ammecmayuu

Bapuant 1

Kirou K 3aganusam
1.
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2. IlepeBon cnoB:
ABTOMOOUITB, Kapkac. CIUAOMETp, FMEKTPUUECKUH, CHCTEMA, LIMITUHAP, KapJaH,
KOHTPOJIb, TUAPABINYECKUH, IT€1aJTh, BCIOMOTAaTeIIbHBIE YCTPOMCTRA,
muddepenmar.

3. KOMITIOHEHTbBI ABTOMOBWJIA

B ocHOBHOM, aBTOMOOWJIb COCTOUT M3 TPEX YacTed: CHJIOBOM YCTaHOBKH, HIIU
JBUTaTeNsd, Iaccu W Ky3oBa. K HHMM MoOryt OBITh J100aBJIEHBI aKCecCyaphbl:
oborpeBarensb, Gpapbl, paino, CIUIAOMETP U IPYTHUE YCTPOICTBRA.
CunoBasi yCTaHOBKa WJIM JIBUTaTejb SBISETCS HCTOYHUKOM BSHEPIUH, KOTOpas
3acTaBIsSIET Kojieca Bpallarbcsi U aBTOMOOWIb ABUrarbcs. OHa BKIIIOYAET B ceds
AIIEKTPUYECKUE,  TOIUIMBHBIE,  OXJIAXKJAIOIIME U  CMa304YHbIE  CHCTEMBI.
BonpmmHCTBO aBTOMOOWJIBHBIX ~ JABUTATENEH WMEIOT IIeCTh WM BOCEMb
IUJIUHIPOB.
[Mlaccu cocTOMT U3 CHIIOBOM Mepenadu, pambl ¢ OCsIMH, Kosec U npyxuH. [laccu
BKJIIOYAET B c€0sl TOpMO3a U PYJIEBYIO CUCTEMY.

CunoBasi mepenaya HECET MOIIMHOCTH OT JBHUTATes K KojiecaM aBTOMOOWIIA W
COZICPXKUT CLEIUIEHHEe, KOpOOKy Tepenad, KapAaHHBIA Ball WM KapJaHHBIM Bal,
nuddepeHiran 1 KOHEYHYIO TIepeaayvy.

MydTta cuemieHds TOpeacTaBiseT coOoW  (QPUKIHMOHHOE  YCTPOMCTBO,
coeMHsIoNIee (WM pa3beAUHSIIONIEE) KOJICHYAThIM Bajl JBUraTels C MEeCTepHIMU
B KOpoOke mepenad. OH UCIONIb3YyeTCs JUIsi OCBOOOXKIIEHUSI KOPOOKH Iepenad oT
JIBUTATEJIS U YIPABIIAETCS MEabI0 CLETUICHUS.

TopMo3a SBISIOTCS BaXXHBIMH MeXaHM3MaMu aBTOMOOWIS. OHM HCHOJB3YIOTCS
JUISL 3aMEJUICHHS] WJIM OCTAHOBKHM AaBTOMOOWJIS. DBOJIBIIMHCTBO MCIOJB3YEMBIX
CErOMHS TOPMO3HBIX CHUCTEM SBISIOTCA THApaBIndecKUMHU. OHH yIPaBISIOTCS
nenanpio TopMo3a. Korma BoauTens HaxuUMaeT Ha Tenajdb TOPMO3a, OHHU
NPUMEHSIOTCSI U aBTOMOOUIIb OCTaHABIUBACTCS.

4. 5.

44




brake| | | | |

Bapuanr 2
Kuarou k 3aganuam:
Crankn

MeTtat mpoxXoauT psJl MPOIIECCOB, MPEXIE YeM OH (OPMHUPYETCS B TPEOyeMyto
dbopmMmy: IUThE, MpPOKaTKa, CBApPKA, MpPOKalbIBaHUE, 00pe3Ka, MpsaeHue, ruoka,
BOJIOYECHHE U JP.
CraHKM, BBIOJHSIONIME BCE 3TH BUJIBI pabOT, Ha3bIBalOTCS cTaHKkaMu. CaMbIM
pacnpoCTpaHEHHBIM  CTaHKOM, BCTPEUAIOIIMMCS MPAKTUYECKH B JIHOOOM
MacCTEpCKOM, SABISETCA TOKApHBIM CTaHOK. OCHOBHBIMU €T0 YacCTSIMU SIBJISFOTCS:
0abka, maTpoH, 3aaHss1 0a0ka, KapeTka.
ABTOMAaTUYECKHI TOKAPHBIA CTAHOK-3TO COBEPIICHCTBO OOBIYHOTO TOKAPHOTO
cTaHka. Ero WHCTpyMEHTBHI MEHSIOTCS aBTOMaTW4ecku. Pabouuwii, ymeromui
MIOJIb30BATHCS TOKAPHBIM CTAHKOM, Ha3bIBACTCS TOKAPEM.
EcTe MHOTO ApYruxX CTaHKOB, KOTOphIE pa0OTAIOT HA IIJIOCKUX MOBEPXHOCTSX,
HampuMmep, (Gpe3epHble CTAaHKH, IUJIAHUPOBOYHBIE W (OPMOBOYHBIC CTAHKHU.
KpyroBbie oTBEpCTHSI CBEPJIAT CBEPJsi MAIIMHOW WM MPOOYPEHBI CBEPIIMIIHBHBIM
CTAaHKOM WJIM CBEPJIWJIbHBIM CTaHKOM. Pe3b0odpe3epHble CTaHKU MPUMEHSIIOTCS B
MPOU3BOJICTBE PA3JIMYHBIX DJIEMEHTOB CTAaHKOB. 3yOOpE3HbIE CTAaHKU BKJIIOYAIOT
3y0odpe3epHble CTaHKU. Bce 3TH CTaHKM MCHOJIB3YIOT PEXYIIUNA MHCTPYMEHT U3
OBICTPOpEXKYILIEH CTaIH.

Peiiku

CymectByer Tpu THUNA TOKApPHBIX CTAHKOB, MPOU3BOAUMBIX HAIIMMHU
CTaHKOCTPOUTEJIbHBIMU 3aBOJAMU: TSDKEINIbIE, CPEOHUE W JIETKUE THUIbl. TuIl
TOKAPHOI'0 CTaHKA 3aBUCHUT OT pa3sMepa AuaMeTpa 3aroTOBOK.
Haubonee ymobHpiM U 3()(PEKTUBHBIM CTAHKOM SIBJISETCS KOMOWHWUPOBAHHBIN
TOKapHBI CTAaHOK JUIsi TOKApHOW, (pe3epHOM, CBEPIWIbHOM, MITU(POBAIBHOM,
JOJIOEKHOM W WHCTPYMEHTAJIbHOM 3aTOouku. Ero MOXXHO HCIOJIb30BaTh Kak B
CTallMOHAPHBIX, TaK U B MEPEIBUKHBIX PEMOHTHBIX MAaCTEPCKUX, HA CyJlax U Ap.

CBepJWIbHbIN CTAHOK

BonbIMHCTBO CBEPIMIBHBIX CTaHKOB OCHAIIIEHBI MeXaHU3MaMH,
MO3BOJISIIOIIMMU HE TOJIBKO CBEpPJIMTH, 3€HKOBaTh M pa3BepThIBaTh, HO U Pe3arhb
BHYTPEHHHUE Pe3bObI C MOMOIIBIO METYMKOB. CTPOSITCA KaK YHHUBEpCAIbHBIE, TaK U
ClielMalibHbIE CBEpJia TUMa "paauaibHbie".

OTBeTHI:
1. Metal undergoes a number of processes before it is formed into the required
shape: casting, rolling, welding, piercing, trimming, spinning, bending, drawing,
etc.
2. The machines which perform all these kinds of works are called machine-tools.
3. The most common machine-tool found in almost any workshop is the lathe.

45



4. The main parts of it are: the headstock, the chuck, the tailstock, the carriage.

5. The automatic lathe is a perfection of the ordinary lathe.

6. A worker skilled in the use of a lathe is called a turner.

7. There are many other machine-tools that work on plane surfaces, for example,
milling machines, planning and shaping machines.

8. Circular holes are drilled by a drilling machine or bored by a boring machine or
a boring mill.

9. Thread milling machines are used in the production of different machine
elements.

10. There are three types of lathes produced by our machine-tool manufacturing
works: heavy, medium and light types.

11. A most convenient and efficient machine is the model combination lathe for
turning, milling, drilling, grinding, slotting, and tool-sharpening jobs.

12. The most drilling machines are equipped with mechanisms, permitting not only
drilling, countersinking and reaming, but also cutting female threads with the help
of taps.

Bapuanr 3

Kuarou k 3aganuam:
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2.IlepeBon ClOB:
[unuuap, aBTOMOOWMIIB, OTpaHUYEHUE, LIEHTP, UK ( €XaTh Ha BEJIOCHUIIEE),
KOMIIpECCHsi, ras.

3. JIBUraresanb

JlBuratenp SIBASETCS MCTOYHUKOM SHEPTHH, KOTOPAsl 3aCTaBisET aBTOMOOWIIHL
JNBUraThCsl. Ero OOBIYHO HA3BIBAIOT JBUTATE]IEeM BHYTPEHHETO CrOpaHusi, MOTOMY
9TO OCH3WH CKUTAETCS B €ro IWIMHIApPAX WM KamMepax CropaHus. BonbIIMHCTBO
aBTOMOOWJILHBIX JBUTATENICH UMEIOT MIECTh WM BOCEMb IIUIUHIPOB.
PaGouuii MK YETHIPEXTAKTHOTO ABUTATENs, KOTOPBIA MPOUCXOIAUT B IMIUHIPE
JBUTATENISI, MOXKHO Pa3JCJINTh HA YEThIpE TakTa. BepxHWM mNpenen IBUKCHHS
MOPIIHS HA3bIBACTCS BEPXHEW MEPTBOM ToukoW. HwkHUN mnpenen ABHKEHUS
IOPIIHS HA3bIBACTCSl HU)KHEW MEPTBOU TOYKOM. XOA-3TO JBMKEHHUE IOPIIHS OT
BEPXHEW MEPTBOM TOYKM K HWKHEW MEPTBOM TOYKE WIIM OT HUKHEU MEpPTBOU
TOYKH K BEpPXHEN MEPTBOM TOuKe. J[pyrMmu cioBaMu, NMOPIICHb 3aBEPIIAET XOJ
KaXXZIbI{ pa3, KOrJa OH MEHSET HalpaBJIECHNUE CBOETO ABUKEHHUS.
Tam, rie Bech UK COOBITHI B HIWJIMHAPE TPeOyeT YeThIpeX TaKTOB (JIBa 000poTa
KOJIEHYAaTOr0 Balia), IBUTATellb HA3bIBAIOT YETHIPEXTAKTHBIM IIUKIIOM JBUTATEIIS.
YeTbIpe TakTa: BIIYCK, CKaTHUE, MOIIHOCTD Y BBIXJIOIL.
bpun Takke M3roTOBJICHBI JBYXTAaKTHBIEC JIBUTATENIN, U B TAKUX JBUTATEISIX BECh
ITUKJT COOBITUH 3aBEPITAETCS 3a JIBA TAKTa WX OJUH 00OPOT KOJIEHYATOTO Basa.
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Ha TakTe Bmycka BIyCKHOM KjanaH OTKpbiBaeTcsi. CMeCh BO3AyXa U UCIIAPEHHOIO
OeH3MHA TOAAeTCs B IIWIMHAP Yyepe3 BITYCKHOU KianaH. Ha TakTe cxxaTus BXOIHOU
KJIalmaH 3aKpbIT TaK, YTO CMECh MOXHO o0arTb. Ha TakTe cuibl 00a KiamaHa
3aKPBITHI JJIs1 TOTO YTOOBI MOJIHSTH JABJICHHE BO BpeMs cropaHusi cmecu. Ha Takte
BBIITyCKa BBINTYCKHOW KJIarlaH OTKPBIBAETCSI, YTOOBI HCUEPIIATh

OCTATOYHBIN Ta3.

4, 5.
1 |2 |3 |4 |5 1|23 |4 5
c |b [d |a |e a|b|lal|b d
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JIMCT U3MEHEHU U JOMOJHEHUN K KOMILIEKTY KOHTPOJIbHO-OLEHOYHbIX
CpelacTB

HononHenus u usmeHeHuss k komiuiekty KOC Ha y4eOHBI TOA TIO

NUCLUTIIINHE

B xommiexkt KOC BHeCeHBI ceayIole n3MEHEHUS

Jononnenus u usMmeHeHuss B komiuiekte KOC o6cyxnenst Ha 3acemanuu [11K

« » 20 r. (mpotokoi Ne ).

[Ipeacenarens TILK / /
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